Module 10: Linear and Quadratic Function Families
Topic 3 Application: Finding Function Values for Elements of the Domain Problem Set

Using your knowledge of finding function values for elements of the domain, solve each problem shown below. Follow the instructions for each portion, answer all of the questions, and make sure to show all of your work.
For Problem 1: Explain the error in the work shown below. Then, rework the problem correctly.
1. [image: image1.png]f(x) =3x—11.



Given: [image: image2.png]f(x) =3x—11.



Find [image: image4.png]f(4).




[image: image47.png]f(x) = 3x — 11




[image: image48.png]f(x) = 3x — 11



[image: image49.png]4

3x — 11




A) Explain the error in the work.
B) Rework the problem correctly.
For Problem 2: Find the range for the given.

2. Given: [image: image6.png]b(x) = —2x + 12,



  find the range of [image: image8.png]


 for the domain [image: image10.png]{—3,5,9}



.
For Problem 3: Use the graph to find the solution.
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3. Given the graph of [image: image13.png]w(x)



, [image: image15.png]



For Problem 4: Read the scenario and answer the question.
4. During a local high school football game, the height [image: image17.png]


 feet of a football after [image: image19.png]


 seconds can be represented by the function [image: image21.png]h(t) = —16t? + 58t + 2



.  Find h (2.5) and explain its meaning.
For Problem 5: Use the table to answer find the solutions.
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	[image: image23.png]f(x)
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5. Given the quadratic function is represented by the table above:
A) [image: image36.png]f(=3)=



_________________________
B) [image: image38.png]f(0)=



 _________________________
C) [image: image40.png]f()=



 _________________________
For Problem 6: Find the range for the given.
6. Given: [image: image42.png]


, find the range of [image: image44.png]


 for the domain [image: image46.png]{0,4,7}
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[image: image51.png]+11 +11
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